Math 286(Ch1) Hw 1 Name & Box Number:
1. Match the following direction field with the differential equations given below.
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2. Visit the page https://homepages.bluffton.edu/~nesterd/java/slopefields.html, and enter the
differential equation in problem 1 (c) and (h) into the slot provided and attach the print.
Include at least three integral curves in your output.
3. Evaluate the following.
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More problems at the second page!




4. Differentiate the following.

(a) y=3-0.7x>+0.3x’ (b) y=(2x-5)(4—-x)"
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